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3 (Sem-5/CBCS) Z0OO SE
2022
ZOOLOGY
(Skill Enhancement Course )
Paper : ZOO-SE-5014
( Non-Mulberry Sericulture )
Full Marks : 50
Time : Two hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Choose the correct option of the following
questions : (any four) 1x4=4

() Which of the following is not a silk-
protein ?

OTH (PO (oW Ao Tz e
(a) Sericin

(b) Fibxoin

(c) P-20

(d) P-25

Contd.




(i) Silkw bel 15 %he order (v) Which of the following stages of silk-
ii) Silkworms belong to

worm can produce silk ?
I ST 1B @= TORER (0 SER (A TeslH R
(a) Hymenoptera A& 2

(b) Lepidoptera (a) 5th instar larva

(c) Coleoptera oAgew ST (FTM) A
(d) Hemiptera (b) Pupa

(iii) Which of the following is a univoltine G«
silk moth ?
TR (@G @3 PR (TfrersiR) @ow (c) Cocoon
5! R ? ol
(a) Bombyx mori (d) Moth
(b) Antheraea assamensis REN(E
(c) Philosamia ricini () The causative organism of pebrine
(d) Antheraea proylei discase is

(i) The primary food plant of muga silk- | iR @t SRR SRt @R
worm is . :

(a) Bacillus bombycts
ol TG Y ASARY g
(b) Nosema sp.
(a) Dighlati )
' (c) Bacillus coli
o nkari

(b) Mejaniar (d) Beauveria sp.
(c) Som

(d) Castor (Eri)
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(vit)

(viii)

The major pest of silkworms is

@ ~feARE 2gA SRR SR (TR
(a) Housefly
i
(b) Uzifly
G ERIR
(¢) Lizard
o1
({d) Rat
[GRICH
Which silk of Assam has got
Geographical Indication (GI) Tag?
TR (FIFRY @ (S 5 (GI) 61
F© FR0R?
(a) Eri
«q
(b) Pat
A
(c) Muga
bRl
(d) Tasar
©oe
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Answer the following questions ;

(any three) 2%x3=6
Ooq e Tl ol ¢ (e ot

(i)

(ii)

(iii)

(iv)

(v)

What is silk route? Mention its
importance. 1+1=2
o= 5 (@ ) & = TR eag T
4|

Mention the differences between
Mulberry silkworm and Non-Mulbery
silkworm.
TR (SAB) (@A WR S-EEEl
EEAARRE MCTS 4P AILTIE T 41 |
Distinguish between male and female
moth of muga silkworm.
9l (@O T < ES| 53 W&o I3
ANLFER F e
What is stifling ? How is it done ?
1+1=2
Bl & =0 33w @EmE T =@
Name any four major predators of
silkworms.

(AT O 9 YR S SRGR I A a1 |
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(vi) Mention any two by-products of non-
mulberry sericulture with their uses. 1+1=2

YR EENCITIS SR (R R 75
TolTie TR AW OiE PRed I9ET S I |

Answer the following questions : (any two) 5%2=10

OER TR G Tl ¢ (TR 7o)

(i) What is seed cocoon ? How are these
preserved ? 1+4=5
Jre @o1ef (seed cocoon) & 2 ¢ GRS
(MR TR T A ?

(ii) Write a note on the origin of silk.
o e R @bl Rl

(iij) Write about the nature and
composition of silk.
@R AR Wi iR R B

(iv) Describe briefly the process of
spinning and reeling of silk.
@R P =R B omafes REa s9ie
<1 7= |

(v) What measures will you take to
protect silkworms from their pests and
predators ?
(BT RO ANTER W[ AT @RS
o1 e fea & 6 aegr avane
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(vi) Write a short note on economics of
non-mulbery silks in india.

SACS  G-WEAE @ (FF) i
FIGIESE Q2% Bl (B! el |

Answer the following questions :

(any three) 10x3=30

TR P TR vl ¢ (Rl fofny)

(i) What do you mean by sericulture?
Why is it called an agro-based
industry ? Give an account of different
types of silkmoths with examples.

1+3+6=10
@53 Tralst e [ g@i e T fan giafeles
Twitsl e rEl ' 2 T e [fen q39
@b @ @t Reel

(i) What is the scientific name of muga silkworm ?
Describe its life cycle. 1+9=10
Pil (@R @@ W T W Fre
SEFCO1 01 T4 |

(i) What is the scientific name of eri silkworm ?
Describe its life cycle. 1+9=10
CSTING i e - oo A S BT
GIRAbCE! I |
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(iv) Describe the process of rearing of
muga silkworm.

Yol (TR ifeT simfed faca qefal w4

(v) Describe the steps involved in the
process of rearing of eri silkworm.

G ([FHAATR A ol@foq TR 3¢
9|

(vi) Describe the environmental conditions
which influence rearing of silkworms.

@FEAER AT goR (ARl SRR
SRIZTEE I 31 |

(vi) Name four major diseases of silk-
Worrns. Write their causes and
symptoms. 2+(2x4)=10
@O 5IFEI dFER AW frel @@
(QISRITT IR < ST o720 |

(viii) Write about the prospects and
problems of entrepreneurship in non-
mulberry sericutture in India.6+4=10

Slaed S-EER] @6Y Trpae SmIes
aEl SR TP Jacy oy
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